
8. 

9. 

10. 

12. 1 TI Uqato 3:2zta TI Aa 
13. 1 TT 4:5z 1 TI A 

14.7 ba oN x yM 

a) b 

55 40 
x 

a) 650, 250 b) 63°, 270 c) 112, 68 d) 130, 50 
16. 7 IR AKKK I7* I AKA Í5ATE 

b) 163, 270 a) 110°, 700 c)1120, 680 d) 450, 45 

5.6 N AT: 

5.6.1 id *1 AI Intersecting Lines) 

m 

fba 5.14 



5.6.2 7 ANI (Perpendicular Lines) 8 

A 

O B 
i) () 

ba 5.15 TT 

5.6.3 7AAA AE CRT 1 ofa (Parallel Lines and Transversal) 8 

i) () 

(V) (i) 
b 5.16 
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5.6.4 7AT AN (Parallel Lines) 3 

) ) () iv) 

ba 5.17 

5.6.5 CR (Transversal) 8 

Gi) 
b 5.18 

6 
7 

64 5.19 
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26, 45, 44, 23 

47, 28, 21, 22 
21 L5, L2 E 26 

L4 28, 23 u L7 

L3 26, 24 25 
21 L8, 22 327 

23 23 L5, 24 U Z6 

5.6.6 

a) 

23-27, 12 3Y4 
24 Z8, 21 5, 22= 46 

b) 

5 23 26, L4= L5 

c) 
8 

46+ 45 = 180, L4 + 26 = 180° 
To 5.20 

5.6.7 

HIR85a (5.21)3 lqUT CAI|PTT/E7 I I PalaaAT 

) TU 
1) 7R 

6 5.21 ) OM A51e RI 

7H14T ) AAI 5as / qU (RI P G4D / I ZI P TAI 7ATT IT 
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3) TEECP1 

) PT UUETI , 
fba 5.22 

MIR 10 z7 XY| QR 7U 24 = 50° COTE Z5 = 450 a AII UDI Aa | 

TAT8 I TTR XY| QR, 24 = 50" Z5 = 45° T 

41, 22 UR L3 
* 

21+24 + 25 = 180° [PRE I] 

21= 180- (24 + 25) 
21 =180-(50"+45) 

21 =180°-950 
21 = 85 

XY|QR, PQ RT 
2 3 

24= 2 9R TEETAII] Q fBa 5.23 R 
L2 =500 

XY QR, PR T 
45= 23 [e 

43 = 450 

TTTT*TT" ALLLALLLLA.RLll 
5 5.24 
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1 (54 5.24 R) 

(0 

(i) () 

t-5.2 
1. sTAABIICD;x, y a: AI 

()A10 b) 

100 
D 

(d) A (C) 
A 

s0 40 D 
te BEF R RU) C 



2 
(a) (b) 

570 20 

123 

(c) (d) 

50 
126 /26° 

P 
A6 SB 

C D 

4. 15&6m,t 7Ix AT AN 4. 

(a) (b) (c) 
120o1 

60r 
>M 

t7-5.3 
1. 

b) Reti N 
d) gu af 

a) 1 1 

2. 701 e 7,RR KITN 
a) 90 b) 180 c) 360 d) 450 

3. 717 201 C R, PR AI57R7| 3. 
a) 450 b) 1800 c)900 d) 360 
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